Chapter 7 Review
Name _____________________________

Math 90, Elementary Algebra

1.   Find the value where the expressions are undefined:  
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2.   Simplify the following expressions:

         a)  
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c)  
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In problems 3-10, perform the indicated operation.  Simplify your answer.

3.

[image: image6.wmf]x

+

4

x

-

2

×

6

x

-

12

3

x

+

12


4.  
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6.   
[image: image9.wmf]27

6

²

35

12

²

49

²

21

4

²

-

+

+

-

×

-

-

+

x

x

x

x

x

x

x


7.    
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8.  
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9.  
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10.  
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11.  Solve for a:  
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12.   Solve for x:  
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13.  Solve for x:  
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14.  Solve for h:  
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Answers:

1. a)
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